» Ayuda LaTeX

» Simbolos

Simbolos

Texto Resultado

\left [ \array{

\le & \leq & \ll & \subset & \subseteq \\
\sqgsubset & \sqsubseteq & \in & \vdash & \models \\
\ge & \geq & \gg & \supset & \supseteq \\

\sqgsupset & \sgsupseteq & \ni & \dashv & \perp \\
\neq & \doteq & \approx & \cong & \equiv \\
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\propto & \prec & \preceq & \parallel & \sim \\
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\simeq & \asymp & \smile & \frown & \bowtie \\
\succ & \succeq & \mid

3} \right ]
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\left [ \array{

\pm & \mp & \times & \div & \cdot \\

\cdots & \vdots & \ldots & \ddots & \ast \\
\star & \dagger & \ddagger & \amalg & \cap \\
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\cup & \uplus & \sqcap & \sqcup & \vee \\

\wedge & \setminus & \wr & \circ & \bullet \\

\diamond & \lhd & \rhd & \unlhd & \unrhd \\

\oslash & \odot & \bigcirc & \Box & \Diamond \\

\bigtriangleup & \bigtriangledown & \triangleleft & \triangleright
& \oplus \\

\ominus & \otimes

3} \right ]
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\left [ \array{

\aleph & \forall & \hbar & \exists & \imath \\

\neg & \jmath & \flat & \ell & \natural \\

\wp & \sharp & \Re & \angle & \Im \\

\backslash & \mho & \prime & \emptyset & \triangle \\
\nabla & \clubsuit & \diamondsuit & \partial & \heartsuit \\
\top & \spadesuit & \bot & \Join & \infty \\

\Laplace & \Fourier

3} \right ]
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